SR 2THE9 A 7 H

% T,
Ar 1 M BERFEREHIRE 870 il 1
S % B X & H %K K =B
REHFSL REDFELEE B /B %
a—RKES 2 9 2 6 T
WAL BEREESN—TREERE BT
HFIR=EE K v %
= i 048—970—4949
I 2159 Al 8 AEARXRESHFTELEOEHMLE
[£TEDXIRTHALLE]
10 A 11 A 12 A 1H 2 A 3H 3Rt
e b | ke (%) 101.4 90.8 98. 2 90.5 92.8 81.2 92.0
HER Y1 61 62 62 62 62 62 62
JAS i BT 63 63 63 63 63 62 62
45 51 6 /1 7H 8 /1 9A | T
sebm | miEike (%) 9.7 89.9 93.2 84.0 9.7
HE 21y 62 60 59 60 60
JAS T BT 62 62 62 62 60
[BEFIE DRBTHALLES]
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se b | Bk (%) 91.4 9.1 95.9 86.5 92. 4
PSE IS 59 57 56 56 56
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